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12.1 Vector-Valued Functions ET11.1
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. Since f (1) = T has domain (—00, 0) U (0, 00), g (1) = T‘/:’V is continuous on [0, oc), and /i (1) = te~ /1 is

continuous on (o0, 0) and (0, 00), we see that r is continuous on (0, 00).

. Since f (1) = &~ is continuous on (—oo, 60), (1) = cos /4 — 1 is continuous on (—oc, 4], and /i (1) = 1/ (,2 - J) is

continuous on (—oc, —1), (—1, 1), and (1, 0c), we see that r is continuous on (—oc, —1), (—1, 1), and (1, 4].
12.2 Differentiation and Integration of Vector-Valued Functions ET 11.2

and since
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e x vV O] =r () x P () +r() x ¢ (1) =r(t) x ¥ (1) since ¥ (1) x ¥ (1) =0,



